
Tail Tidy
Honda CB650R - CBR650R

Installation Instructions



Installation Instructions

Kit Contents   PRN014447

1 x Re�ector Kit A

1 x Retro Light B

1 x Loom Connector C

2 x M4 Flange Nuts D

2 x 6.5mm P-clip E

2 x M4 x 12mm Black Button Head Bolts F

2 x M5 x 20mm Black Button Head Bolts G

3 x 8mm P-clip H

4 x M8 x 20mm Black Button Head Bolts  I

4 x Spacers J

5 x M4 x 6mm Black Button Head BoltsK



1Installation Instructions



2Installation Instructions



3Installation Instructions



4Installation Instructions

Repeat
Both Sides



5Installation Instructions



6Installation Instructions



7Installation Instructions



8Installation Instructions



9Installation Instructions



10Installation Instructions



11Installation Instructions



12Installation Instructions



13Installation Instructions



14Installation Instructions



15Installation Instructions

Repeat
Both Sides



16Installation Instructions

Repeat
Both Sides



17Installation Instructions

Repeat
Both Sides



18Installation Instructions

B



19Installation Instructions

D



20Installation Instructions



21Installation Instructions

F



22Installation Instructions

Repeat
Both Sides



23Installation Instructions

Repeat
Both Sides



24Installation Instructions

Repeat
Both Sides



25Installation Instructions

Repeat
Both Sides

G



26Installation Instructions

E



27Installation Instructions

E

K

K

E

Caution

Run wires through the 
P-clips ensuring they

do not get trapped or squashed



28Installation Instructions

Caution

Run wires through the 
P-clips ensuring they

do not get trapped or squashed



29Installation Instructions

K

H H

H

K

K

Caution

Run wires through the 
P-clips ensuring they

do not get trapped or squashed



30Installation Instructions

Caution

Locate loom in underseat area
 ensuring they do not 

get trapped or squashed



31Installation Instructions

J

Repeat
Both Sides Caution

Do Not Fully
Tighten

I



32Installation Instructions

Repeat
Both Sides Caution

Do Not Fully
Tighten



33Installation Instructions

Repeat
Both Sides Caution

Fully
Tighten



34Installation Instructions

C



35Installation Instructions



36Installation Instructions



Installation Instructions



Installation Instructions



www.evotech-performance.com


